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M75 1m15 14 0048 N fE5H 79 426 #FENTERHE=
M65 1m30 12 0836 Hhf 67 426 #ENTERHE=
M60 DNS 14 1434 HIR B 62 426 #ENTERHE=
M60 1m35 11 0792 JFR ®) 61 426 #FNTERHES
M60 NM 12 0508 X % 60 426 #RINVERHE=
M60 1m40 14 1248 iR & 60 426 #EINTERHE=
M60 DNS 01 0805 Y e 60 426 #RNVERHER
M60 1m20 _H&’%ﬁ ] 60 426 #FINVERHER
M60 1m45 14 1303 = L 60 426 #RNVERHER
M50 1m50 08 0545 TR e 52 426 #FNTERHER
M45 1m70 14 1582 S R 46 426 MFRIITEHRS
M45 1m75 04 0406  szyy St g 46 426 MRIITEHRER
M45 1m60 13 3396 K Rk 45 426 #MRIITEHRER
W70 1mO00 14 1557 RERT 7 74 426 #FNTEHER
W45 1m30 14 1003 48 | 426 #MRIITEHR
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